ITI Computer Operator and Programming Assistant (Java) 1st
Year Module 8 Database Concepts, Queries & Joints and
Functions

(1). Which of the following is not a type of database? | fafafaa g s T SeET o1
TP TP T8l &2

(A) Hierarchical | Q’UﬂW

(B) Network | Acad

(C) Distributed | faafva

(D) Decentralized | ﬁﬁ?—d

Correct Answer : D

(2). What is the best way to represent the attributes in a large database? | wa%éaﬁv

H faiwars & IRgd PR BT GaH 3BT dRIbT 771 3?
(A) Relational-and | HEUR®-3MX

(B) Concatenation | SIIST

(C) Dot representation | faig afaffera

(D) Customization | mﬁﬁm

Correct Answer : B

(3). Database which is the logical design of the database, and the database
which is a snapshot of the data in the database at a given instant in time. | S

ot ST HT AlfoTwd (ST 8, 3R Seray it fareft fow e v
H ST A ST 1 U WuRie gl
(A) instance, schema | 3’@?, THIHT
(B) relation, schema | a4, TP

(C) relation, domain | T¢I, SHA



(D) schema, instance | WT,E@W

Correct Answer : D

(4). What is the need for our query to execute successfully on an existing view? | ﬁEITI'FI

T IR TURI $3) TP Adgd® (Harfed B 1 T STaxaddl 82

(A) The specified table must contain data

(B) We should have a SELECT privilege only on the specified table
(C) The specified table must be in the same database or schema
(D) We must have a SELECT privilege on the view

Correct Answer : D

(5). In the database design, to characterize fully the data needs of the prospective database
user in the EEEGACTIERE: H HUTfad SeTev gorR &1 3eT
AT A1 &I ¥l @ve A Rifga w3 & g

(A) Initial phase | UEETW

(B) Execution phase | Qﬁ'\‘ﬁ?{‘ﬂqﬁﬁf
(C) Maintenance phase | HeAd bl
(D) Closure phase | FEIVIR ol

Correct Answer : A

(6). The tuples of the relations can be of order. | w&h%gqvﬂ PASD
HEET A

(A) any | BIS
(B) same | GQI
(C) sorted | shHdK
(D) constant | fFraa

Correct Answer : A



(7). The term attribute refers to a of a table. | RG] Treg fopat AP
&1 dehfa sear gl

(A) record | RS
() column | BTAH
(C) tuple | TUA
(D) key | B

Correct Answer : B

(8). Collections of operations that form a single logical unit of work are called N

1 B RiTe wiiforpe gfe a1 aral Harer & 698 6 m—
(A) views | T

(B) networks | A¢ad

(C) units | gfIcH

(D) transactions | STAGRIA

Correct Answer : D

(9). Representations such as the in the dept year relation, with one column for each value of
an attribute, are called they are widely used in spreadsheets ands and in data

analysis tools. | Mﬁﬂw%uﬁﬁm%mwﬁmmﬁﬁmaﬁwuﬁﬁ
3T P $ET ATdT 8, SPT ATYH =7 A Weie R Rl iR a1
fa=awor ga o ST fFaT ST 81

(A) cross-tabs | PII-¢d

(B) snapshot | |Augiie

(C) both cross-tabs and Snapshot | PHII-cd Gﬁ?a@ﬁ%ﬂ:ﬁ'
(D) across-tabs | 3pIY-coq

Correct Answer : A



(10). Which of the following systems is responsible for ensuring durability? | T

gfia s & fag Fafatea 9 9 o= I yored Rraer 82
(A) Recovery system | R@adl ReH

(B) Atomic system | GEITH® RRTH

(C) Concurrency control system | THAd! =101 YoTTeht

(D) Compiler system | IeheIp HUMTCIt

Correct Answer : A

(11). What does the following statement in SQL do? DROP TABLE student; | SQL ﬁ'ﬁ'ﬁﬁl@’d
YT FGT AT 8?2 DROP TABLE student;

(A) Deletes a table called student | ﬁmﬁw%aaﬁsa%m%
(B) Creates a table called student | WWWWW %
(C) Check if there is a table called student | Wi o a1 BT 919 B ﬁ'sc oTd %

(D) Deletes only the records in a table called student | W@?W%éﬁﬁﬁﬂﬂﬁ%
gl g

Correct Answer : A

(12). Declare out of classroom seats condition DECLARE exit handler FOR OUT OF classroom
seats BEGIN SEQUENCE OF statements END The above statements are used for___ | Declare
out of classroom seats condition DECLARE exit handler FOR OUT OF classroom seats BEGIN

SEQUENCE OF statements END SURIGd Sl &T ITANT___ & fore fpar s 21

(A) calling procedures
(B) handling exception
(C) handling procedures
(D) calling functions

Correct Answer : B

(13). Which of the following are TCL commands? | fAafafaa A A B A TCL FHIS %:?



(A) COMMIT and ROLLBACK
(B) UPDATE and TRUNCATE
(C) SELECT and INSERT

(D) GRANT and REVOKE

Correct Answer : A

(14). The format for compound statement is .| PUSS WHT BT BIAC

g

(C) begin ....... repeat
(D) both begin ....... end and begin atomic....... end

Correct Answer : D

(15). Which of the following is the correct format for if statement? | IBUIGIECE] AQ B A
if )Wehe & fore gt v 82

(A) If boolean expression then statement or compound statement else if boolean expression
then statement or compound statement else statement or compound statement end if

(B) If boolean expression then statement or compound statementelsif boolean expression
then statement or compound statement else statement or compound statemented if

(C) If boolean expression then statement or compound statementelif boolean expression
then statement or compound statement else statement or compound statemented if

(D) If boolean expression then statement or compound statement else statement or
compound statement else statement or compound statemented if

Correct Answer : A

(16). A domain is atomic if elements of the domain are considered to be units.

| T SR WA 3 afe S & dcdl ol SHISAT AT AT 21
(A) different | 3T



(B) indivisible | SIHTSY
(C) constant | FFraa
(D) divisible | HTSY

Correct Answer : B

(17). For each attribute of a relation, there is a set of permitted values, called the of

that attribute. | fe} TaY B} Ud® faRiwar & g, U Wl #1UF Ae giar s, orw
39 fadwar &1 SR

(A) domain | STHT
(B) relation | JdY
(C) set|dT

(D) schema | THIHT

Correct Answer : A

(18). Create procedure dept_count proc(in dept name varchar(20),out d_count integer) begin
select count(*) into d_count from instructor where instructor.dept name= dept count
proc.dept name end Which of the following is used to call the procedure given above? |
Create procedure dept_count proc(in dept name varchar(20),out d_count integer) begin
select count(*) into d_count from instructor where instructor.dept name= dept count

proc.dept name end wﬁnﬁu%maﬁﬁamﬁ%ﬁrqﬁgﬁl@aﬁﬁm
SUERT fhaT SITar 82

(A) Declare d_count integer;

(B) Declare d_count integer; call dept_count proc(’Physics’, d_count);
(C) Declare d_count integer; call dept_count proc(’Physics’);

(D) Declare d_count; call dept_count proc(’Physics’, d_count);

Correct Answer : B

(19). Which of the following is/are TRUE about DDL command? | DDL FHSF IR H

fraferfaa & 9 &9 a1 TRUE &2



(A) With the DDL commands, we can deals with the rights,permissions and other controls of

the database system, | DDL mis%mzr, Ewé?@\qﬁlm% G'Tf\m, GIﬂ'qﬁ'q.T 3R
3= o A e aea €

(B) With the DDL commands, any changes can be made to the table, such as inserting ,
modifying,deleting and viewing the records. | DDL FHIS g1y, S| ﬁaﬁ's‘ W seaE
o I A an 8, S Rapie sTaT, WA =1, g 3R 3T

(C) With the DDL commands, any structural changes can be made to the table, including
creation, deletion, and alteration | DDL PHIS S 1Y, G R ﬁg W IRTATHS Qﬁ'a?f:l
e < g g, forad fRmfor, o= sik ufvada it &

(D) With the DDL commands, we can retrive data from the database | DDL mi:c:%mu,

TH SO A T T S DA &

Correct Answer : C

(20). Which of the following is used to input the entry and give the result in a variable in a

procedure? | WWﬁWﬁWW@WWﬁWﬁ%W
fFrafafea o 3 feasT sua frar s g2

(A) Put and get
(B) Get and put
(C) OutandlIn
(D) Inand out

Correct Answer : D

(21). Create function dept count(dept_name varchar(20)) begin declare d_count integer;
select count(*) into d_count from instructor where instructor.dept_name= dept_name return

d_count; end Find the error in the above statement. | WF‘Tﬁ‘H’I‘TW count(dept_name
varchar(20)) begin declare d_count integer; select count(*) into d_count from instructor

where instructor.dept_name= dept_name return d_count; end ?mﬁa$u=rﬁgi%m

I
(A) Return type missing

(B) Dept_name is mismatched

(C) Reference relation is not mentioned



(D) Errorin the formation of the function name

Correct Answer : A

(22). What does the following code snippet do? ALTER TABLE STUDENT ADD(ADDRESS

VARCHAR2(20)); | fAaferf@d @is fate o1 &dT1 82 ALTER TABLE STUDENT
ADD(ADDRESS VARCHAR2(20));

(A) Invalid Syntax

(B) Checks if a column called ADDRESS is present in the table student | GFEIT‘IT%%W

ATferpT A ADDRESS FITH® BTy HiS[G @ aT Tl

(C) Adds a column called ADDRESS in the table student | BT dTferhT # ADDRESS HD Th
PITH SliSdr g

(D) Adds records in a column called ADDRESS in the table student | E@?éﬂ?ﬂ}l ADDRESS
AT Hiad § Rels Siedr g

Correct Answer : C

(23). The scheme that controls the interaction between executing transaction is called as

__. | 98 9T S e e d 9 & Sl R fhar o fefid sl ®, 39
____ DIl

(A) concurrency control scheme | AT fE=0T OISt
(B) multiprogramming scheme | Hed IR aiST=T
(C) serialization scheme | HHIDB TISTHT

(D) schedule scheme | GIﬂ'\‘EﬂlﬂmT

Correct Answer : A

(24). What is full form of DDL? | DDL &1 YUl ™ &1 872
(A) Data Describe Language

(B) Definition Data Language

(C) Data Definition Language

(D) Data Distinct Language



Correct Answer : C

(25). Execution of translation in isolation preserves the of a database. |

AT # 3aTe PT freqre Seed & DI AR HRAT B |
(A) atomicity | GSIFHRIET

(B) consistency | FRURT

(C) durability | ¥ITRE

(D) Integrity | 3RASdl

Correct Answer : B



